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One Solution 

All units thousands 
m3/yr 

*Assumed based on 
morphology 

m. 

~V3=80 
R3=0 ) 

I 
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  ΣQsource - ΣQsink - ∆V + P - R = 0 
Macrobudget: 

(200)-(150?)-(50+20+80+15?+-70+20)+(10+15+10)-(20)=Residual 
-50 = Residual
 

 Something wrong with assumptions! 
Assume 150? Incorrect; solve for Qout 

Qout = 100 BUILDING STRONG® Innovative solutions for a safer, better world 



   

 Solve Cell 2: 
(Q32)-(100)-(20)+(15)-(0)=0 

Q32=105
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Solve Cell 5:
 
(0)-(Q56)-(-70)+(10)-(0)=0
 

Q56=80
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Solve Cell 4:
 
(Q64)-(0)-(15)+(0)-(0)=0
 

Q64=15
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Solve Cell 1:
 
(200)-(Q13+0)-(50)+(10)-(0)=0
 

Q13=160
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Solve Cell 3:
 
(Q63 +160)-(105)-(80)+(0)-(0)=0
 

Q63 =25
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Cell 6 (check):
 
(0 + 80)-(15+25)-(20)+(0)-(20)=0
 

~ Balanced budget ~
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